sadgear

SUSPENSION RACK

SAG-2805

IMPORTANT: Please read the Important Safety Notice and
Assembly Information in the Owner’s manual before assembling
this product.

Assembly Manual
110826




—
AY

@ x 10

@ x4

©IMPEX INC. 1



I,

= =

MM

D1 2 3 4 5 6 7 8 9 101112131415
A

O 1!/

\)lf 6)‘}




(]]:- W) M10X3%" @ X8 (‘D%“
@ (—=m  xg MO0x3y" @ o x8 M0

©IMPEX INC. 3



@® (e
(@ (e

x4
X2

M10 x 13" © x12 03"
M10 x 1 @) ™

©IMPEX INC.




@66 06

x2 MI0x43"
x6  M10x34"
x1  M10x1"

@

J e

. \ b
. . - e A) AR
> 7 D
- i
-
) ¥
-

©IMPEX INC.




x4
x8
x4

M10 x 1"
q)_g_"
M10

©IMPEX INC.




©IMPEX INC.



©IMPEX INC. 8



IMPEX® INC.

14777 DON JULIAN RD., CITY OF INDUSTRY, CA 91746
Tel: (800) 999-8899 Fax: (626) 961-9966
www.impex-fitness.com
info@impex-fitness.com

©IMPEX INC. 9



http://www.impex-fitness.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

